Name:____________________ Date:_______________Block:________
Logarithm and Exponential Functions – Review

Use logarithms to solve the following: (round to 2 decimal places)

1)  5x = 7


2)   3(2x + 1) = 15    

 3)   0.3 (x+6) = 1.2       

4)  73x+4 = 92x

Use exponents to solve for x (round to 2 decimal places):    –
	5)   log7 (x) = 2.1


	6)
log 3  (3x - 3) = 2

	7)   log1.5 (x) = 7


	8)
logx+2 (2/3)  = –1

	9)  log5.2 (x/2) = 4

	10) log2 (1/x – 6) = –2




Solve the following: (round to 2 decimal places)

11)  32-7x = 21
                      12)  43x = (½)x+3                               13)  1(237x+13.3) = 14x
Expand the expression.

14) ln (3x/5)




15)   log3(15/x2)
Be careful on the next one.  Make sure it is simplified completely ~ hint hint!

Condense the expression.

16)  log5 75 – log5 3

17)    ln 12 + ln 4
18)  An investment of $4000 is put into an account at 5% annual interest compounded quarterly.  How much will be in the account in 12 years if no withdrawals are made?

19)  Susie just inherited $3500 from her aunt.  She plans to invest the money, not touching it for twenty–five years.  She can invest in treasury bills at 5.35% interest, compounded semi-annually, or in a money market account earning 5.31% annual interest, compounded daily.  Which should she do?  Justify your answer.
20)  Sketch the following graphs.  Label the locator points and any asymptotes.
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Answers
1. 1.21

2.  0.73

3.  –6.15

4.  –5.39

5.  59.53

6.  4

7.  17.09

8.  –0.5
9.  1462.32

10.  0.16

11.  - 0.11

12.  –3/7
13.  0

14.   ln(3) + ln(x) – ln 5
15.  log315  – 2 log3 x
16.  log5  25 = 2 (because 25 is 52)  log552 = 2
17.  ln 48

18.  $7261.42

19.  a)  $13100.98

       b)  $13199.32, choose b
20.  Check your graphs with your calculator.
21) y = log3(x – 1 + 3)  -  1   Simplifies to  y = log3(x + 2) – 1
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